
Analiza odgovora

Ljetni rok 2011./2012. - Matematika (B), učenici gimnazija

Pitanje Odgovori Status odgovora Broj kandidata Postotak Q1 % Q2 % Q3 % Q4 %

1 - Neodgovoreno 10 0,19 100 0 0 0

1 A Netočan odgovor 106 2 48 22 21 9

1 B Netočan odgovor 128 2,42 48 27 18 8

1 C Netočan odgovor 230 4,35 42 28 20 11

1 D Točan odgovor 4818 91,04 23 25 26 27

2 - Neodgovoreno 9 0,17 100 0 0 0

2 A Netočan odgovor 202 3,82 58 25 14 2

2 B Točan odgovor 4991 94,31 23 25 26 26

2 C Netočan odgovor 47 0,89 51 23 21 4

2 D Netočan odgovor 43 0,81 74 14 12 0

3 - Neodgovoreno 12 0,23 92 8 0 0

3 A Točan odgovor 4291 81,08 18 24 28 30

3 A;D Neispravan odgovor 1 0,02 0 100 0 0

3 B Netočan odgovor 629 11,89 47 30 17 6

3 B;D Neispravan odgovor 1 0,02 0 100 0 0

3 C Netočan odgovor 271 5,12 61 27 8 4

3 D Netočan odgovor 87 1,64 71 17 7 5

4 - Neodgovoreno 17 0,32 88 12 0 0

4 A Netočan odgovor 189 3,57 64 22 10 4

4 A;D Neispravan odgovor 1 0,02 100 0 0 0

4 B Netočan odgovor 96 1,81 70 20 9 1

4 B;D Neispravan odgovor 1 0,02 100 0 0 0

4 C Netočan odgovor 152 2,87 63 20 14 3

4 D Točan odgovor 4836 91,38 21 25 26 27

5 - Neodgovoreno 16 0,3 75 19 6 0

5 A Točan odgovor 4930 93,16 21 26 26 27

5 B Netočan odgovor 134 2,53 76 13 8 3

5 C Netočan odgovor 97 1,83 79 14 4 2

5 D Netočan odgovor 115 2,17 74 20 6 0

6 - Neodgovoreno 20 0,38 85 5 10 0

6 A Točan odgovor 4007 75,72 17 24 28 31

6 A;C Neispravan odgovor 1 0,02 100 0 0 0

6 B Netočan odgovor 501 9,47 47 34 13 5

6 C Netočan odgovor 157 2,97 49 29 18 4

6 D Netočan odgovor 606 11,45 53 26 15 6

7 - Neodgovoreno 33 0,62 82 6 9 3

7 A Netočan odgovor 262 4,95 56 26 13 5

7 B Netočan odgovor 485 9,16 51 25 19 6

7 C Točan odgovor 4164 78,68 18 24 27 30

7 D Netočan odgovor 348 6,58 45 33 17 5

8 - Neodgovoreno 27 0,51 67 30 4 0

8 A Netočan odgovor 526 9,94 47 35 14 4

8 A;B Neispravan odgovor 1 0,02 100 0 0 0

8 B Točan odgovor 4033 76,21 16 24 29 31

8 C Netočan odgovor 339 6,41 57 29 9 5

8 D Netočan odgovor 366 6,92 62 23 10 4

9 - Neodgovoreno 16 0,3 75 0 13 13

9 A Netočan odgovor 1689 31,92 32 28 24 15

9 B Netočan odgovor 247 4,67 50 26 17 7

9 B;D Neispravan odgovor 3 0,06 67 33 0 0

9 C Netočan odgovor 322 6,08 47 26 17 9

9 D Točan odgovor 3015 56,97 16 23 27 34



10 - Neodgovoreno 37 0,7 68 14 11 8

10 A Netočan odgovor 1538 29,06 28 28 25 18

10 A;C Neispravan odgovor 1 0,02 0 100 0 0

10 B Netočan odgovor 588 11,11 43 27 18 12

10 C Točan odgovor 2844 53,74 17 23 27 34

10 D Netočan odgovor 284 5,37 49 29 19 3

11 - Neodgovoreno 51 0,96 49 29 16 6

11 A Netočan odgovor 882 16,67 44 29 21 6

11 A;B Neispravan odgovor 1 0,02 100 0 0 0

11 B Točan odgovor 3684 69,61 17 23 27 33

11 C Netočan odgovor 443 8,37 45 32 17 7

11 D Netočan odgovor 231 4,37 36 31 25 8

12 - Neodgovoreno 20 0,38 65 10 15 10

12 A Netočan odgovor 1116 21,09 31 28 26 14

12 A;C Neispravan odgovor 1 0,02 100 0 0 0

12 B Netočan odgovor 172 3,25 38 30 23 9

12 C Točan odgovor 3924 74,15 22 24 25 29

12 D Netočan odgovor 59 1,11 41 31 24 5

13 - Neodgovoreno 25 0,47 88 12 0 0

13 A Netočan odgovor 154 2,91 63 26 8 3

13 A;C Neispravan odgovor 1 0,02 0 100 0 0

13 B Netočan odgovor 349 6,59 43 26 18 13

13 B;C Neispravan odgovor 1 0,02 100 0 0 0

13 C Točan odgovor 4466 84,39 19 25 27 28

13 D Netočan odgovor 296 5,59 64 24 10 2

14 - Neodgovoreno 29 0,55 76 24 0 0

14 A Točan odgovor 3327 62,87 11 21 31 37

14 A;D Neispravan odgovor 2 0,04 50 50 0 0

14 B Netočan odgovor 468 8,84 49 36 12 3

14 C Netočan odgovor 595 11,24 58 28 11 3

14 D Netočan odgovor 871 16,46 40 33 20 6

15 - Neodgovoreno 60 1,13 45 32 17 7

15 A Netočan odgovor 560 10,58 38 31 23 8

15 A;C Neispravan odgovor 2 0,04 50 50 0 0

15 A;D Neispravan odgovor 2 0,04 50 50 0 0

15 B Netočan odgovor 1110 20,98 39 31 23 7

15 C Točan odgovor 2721 51,42 13 20 27 41

15 C;D Neispravan odgovor 1 0,02 0 100 0 0

15 D Netočan odgovor 836 15,8 37 29 24 10

16 - Neodgovoreno 18 0,34 78 22 0 0

16 A Točan odgovor 2380 44,97 13 19 28 39

16 A;D Neispravan odgovor 1 0,02 0 0 100 0

16 B Netočan odgovor 927 17,52 40 29 20 11

16 C Netočan odgovor 1211 22,88 38 30 22 10

16 D Netočan odgovor 755 14,27 21 29 28 23

17 0 Netočan odgovor 1130 21,35 35 29 22 14

17 1 Točan odgovor 4153 78,48 22 24 26 28

17 NO Netočan odgovor 9 0,17 89 0 11 0

18 0 Netočan odgovor 1132 21,39 48 29 15 8

18 1 Točan odgovor 4061 76,74 17 24 28 30

18 NO Netočan odgovor 99 1,87 78 17 5 0

19 0 Netočan odgovor 1116 21,09 47 27 17 9

19 1 Točan odgovor 3902 73,73 15 25 29 31

19 NO Netočan odgovor 274 5,18 70 21 7 2

20 0 Netočan odgovor 2116 39,98 42 30 19 10

20 1 Točan odgovor 3156 59,64 13 22 29 36



20 NO Netočan odgovor 20 0,38 80 10 10 0

21 0 Netočan odgovor 1463 27,65 35 30 23 12

21 1 Točan odgovor 3303 62,41 16 23 27 34

21 NO Netočan odgovor 526 9,94 52 27 15 6

22 0 Netočan odgovor 632 11,94 58 26 13 3

22 1 Djelomično točan odgovor 693 13,1 39 29 22 10

22 2 Točan odgovor 3713 70,16 13 25 29 33

22 NO Netočan odgovor 254 4,8 76 18 6 1

23 0 Netočan odgovor 1361 25,72 48 31 17 4

23 1 Djelomično točan odgovor 2327 43,97 17 28 32 23

23 2 Točan odgovor 1204 22,75 3 12 24 61

23 NO Netočan odgovor 400 7,56 58 27 12 3

24 0 Netočan odgovor 997 18,84 53 24 15 8

24 1 Djelomično točan odgovor 2914 55,06 23 29 28 20

24 2 Točan odgovor 1345 25,42 8 16 27 49

24 NO Netočan odgovor 36 0,68 78 22 0 0

25.1 0 Netočan odgovor 1675 31,65 35 27 24 14

25.1 1 Točan odgovor 3246 61,34 16 24 27 33

25.1 NO Netočan odgovor 371 7,01 56 26 13 4

25.2 0 Netočan odgovor 928 17,54 52 29 16 4

25.2 1 Točan odgovor 3831 72,39 13 24 30 33

25.2 NO Netočan odgovor 533 10,07 68 24 7 2

26.1 0 Netočan odgovor 1785 33,73 41 29 20 9

26.1 1 Točan odgovor 3464 65,46 16 23 28 33

26.1 NO Netočan odgovor 43 0,81 63 28 7 2

26.2 0 Netočan odgovor 3713 70,16 30 28 26 17

26.2 1 Točan odgovor 1348 25,47 6 17 26 51

26.2 NO Netočan odgovor 231 4,37 57 31 10 2

27.1 0 Netočan odgovor 2533 47,86 35 30 22 13

27.1 1 Točan odgovor 2355 44,5 8 20 30 42

27.1 NO Netočan odgovor 404 7,63 61 27 9 2

27.2 0 Netočan odgovor 1111 20,99 46 29 19 7

27.2 1 Točan odgovor 3810 72 15 24 29 33

27.2 NO Netočan odgovor 371 7,01 63 28 8 1

27.3 0 Netočan odgovor 1568 29,63 37 29 23 12

27.3 1 Točan odgovor 3041 57,46 11 23 29 37

27.3 NO Netočan odgovor 683 12,91 60 27 11 2

28.1 0 Netočan odgovor 653 12,34 45 30 17 8

28.1 1 Točan odgovor 4505 85,13 21 24 27 28

28.1 NO Netočan odgovor 134 2,53 64 28 8 0

28.2 0 Netočan odgovor 649 12,26 52 29 14 4

28.2 1 Točan odgovor 4478 84,62 20 24 27 29

28.2 NO Netočan odgovor 165 3,12 65 26 8 1


